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Cambridge Geography for the IB Diploma: Global Interactions


Worksheet 14: Environmental change

The impact of agro-industrialisation
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Figure 14.1 The impact of agro-industrialisation.

1
With reference to Figure 14.1, what do you understand by the term ‘agro-industrialisation’?

2
With reference to at least one location, discuss the impact of agro-industrialisation on the physical environment.

3
Discuss the advantages and disadvantages of agro-industrialisation for consumers.

4
Suggest the possible costs and benefits for the farm populations where agro-industrialisation operates.

5
With reference to examples, examine the ways in which agro-industrialisation can impact on other land uses.

6
Briefly discuss the alternatives to agro-industrialisation.
Copyright Cambridge University Press 2011. All rights reserved.
Page 1 of 2

